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Time allowed for Section - B and Secti'on‘— C Is 2 Hours and 40 minutes.

Answer any TEN parls. Each part.carries FOUR marks.

1.

w ® N e

10.

1.

i2.

X 2 3 4 6
F (%) 0.04 0.25 0.4 0.4
| IfY=2x—8,lhenshowthatE(y)=2E(x)-—B. - _
Section~C Marks: 27
Attempt any THREE guestions, Ali questions carry equal marks.
Who is better on the average. .
| Sales representative A 4 7 5
Sales representative B 2 12 4 8
~ Compute wholesale price index number using the following data.
Index (1) §736 | 3802 | 5102 413.3 424.4
Weight (w) 31 30 18 17 4
What is the probability of obtaining?
(i), Alleast 3sixes (i) Exactly 4 Sixes .

Section-~ B L - © Marks: 40 '

Distinguish between quantitative and qualitative variables.
(i) The number of literale males (i) The heights of fathers” (ii) The income in rupess {iv) The number of girls with blue eyes.

~ What do you understand by term classification? What are different types of classification?

Conslruct frequency polygon from frequency distribution,

“Class limils 40-49 [ 50~59 | 60~69 | 70-79 | 80~89 | 80-99 | 100-109
Frequency 1 3 4 5 4 2 1

Define geomelric mean, mean and harmonic mean. &

Find median Qi, Qa and Ds of the foliowing data.
X |7 15 20 25 30 35 |40
F 1 1 2 3 2 1

Compute standard devialion of data given 35, 36, 47, 49, 53.
Calculate coefficient of variation of following data n = 150, X (x1—100) =180, & (x1— 100)2 = 245320

Define index number wilh examples.

Let A and B be the two possible outcomes of an experiment and suppose P (A) =033, P (A NB)=025P(B)=P
and P (AU B) =0.75. Find P, if A and B are not mutually exclusive, '

* Qut of eighty members of club 30 drink tea, 20 drink coffee and 10 drink both. One member is selected at random

find the probability that he {i) Drinks either tea or.coffee. (i) Drinks onlytea (iii) Drlnks neither tea nor toffee.

A continuous random variable x that can assume values bétween x = 2 and x = 4 has a density function
given by () = iﬁéi ()Find P(x<d) (i) FindP(2<x<3).

In binomial distribution P = 0.2, n = 400. Find mean and variance.

Find the missing value of probability distribution of ..

When a perfect cubical die is thrown 5 limes?

Eind mean and variance of uniform distribution,



